<IDOCTYPE html>

<html lang="ko">

<head>

<meta charset="UTF-8">

<script src="http://ajax.googleapis.com/ajax/libs/jquery/1/jquery.min.js"></script>

<style>
*{ margin: 0; padding: 0; }

#nav{ position: fixed; width: 100%; height: 40px; background: gray; text-align: center; }
.button{display:inline-block; _display:inline; zoom:1; background:#fff; margin-top: 15px; width: 150px; height: 40px; border: 3px solid gray; border-radius: 10px; text-decoration:none; vertical-align:middle; line-height:4
.button:hover{background:yellow; font-weight:bold}

div{ width: 100%; height: 1000px; }

#box1{ padding-top: 40px; background: pink; }
#box2{ background: yellow; }

#box3{ background: silver; }

#box4{ background: red; }

</style>
</head>
<body>
<div id=nav>
<a href=#box1 class="button">BOX 1 O| &</a>
<a href=#box2 class="button">BOX 2 O| &</a>
<a href=#box3 class="button">BOX 3 O| &</a>
<a href=#box4 class="button">BOX 4 O| &</a>
</div>
<div id=box1>1</div>
<div id=box2>2</div>
<div id=box3>3</div>
<div id=box4>4</div>
<script>
S(function(){
S('#nav a').click(function(){
scrollDiv(S(S(this).attr(‘href')), 40);
1),
function scrollDiv(divElement, navHeight){
var offset= divElement.offset();
var offsetTop= offset.top;
var totalScroll= offsetTop-navHeight;
S('body').animate({ scrollTop: totalScroll }, 500);
}
1,
</script>
</body>

</html>s



